
Question Answer

1

a) The total bar is 45 and it has been divided into 5 equal parts, so one small bar is
1
5 of 45
9

b) The total bar is 45 and it has been divided into 5 equal parts, so three small bars are
3
5 of 45
27

c) Both questions involve finding 15 of 45, but Mo then needs to multiply this value by 3

2

a) 9
18
27

b) 24
12
6

c) 30
30
30

In part a), the answers go up in 9s.
In part b), each answer is half the previous answer.

In part c), the fractions are all equivalent to 13 so all the answers are the same.
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4

a) >
b) <
c) >
d) <

5

a) 55
b) 66
c) 33
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6
All the other calculations have the answer 60

7
a) 112
b) 32
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